

Pay Estimate Created Date: August 2, 2023

Progress E	stimate lumber	Contract ID 2	30120-G04		Pay Period Start	July 16, 2023	Original Contract Amou	unt \$2,976,463.00		
3			llevins Asphalt Cons Company	truction	Pay Period End	August 1, 2023	Net Change Order Amount Current Contract Amou	\$26,217.69 Int \$3,002,680.69		
Approval Date								By User		
August 2, 2023			Generated and A	Approved (a	and should be consider	ed Draft) at the	e Project Office Level by	gwinc1		
August 3, 2023		F	Reviewed and Appro	oved (and s	hould be considered D	raft) at the Res	sident Engineer Level by	evendj1		
August 4, 2023				Reviewed a	and Approved at the Ce	ntral Office Co	ontrollers Office Level by	ramses1		
Original Completi	on Date	Current Co	mpletion Date	Actua	al Completion Date	% of	Current Contract Amour	Amount Complete		
September 1, 2	2023	Octob	er 1, 2023				21.16%			
	Contr	act Informational D	ates		Milestones	;				
Date Description	Origi	nal Completion Date	e Current Comple	tion Date	No Milestones Exist for	or Contract				
Acceptance Date										
Awarded Date	Febru	ary 8, 2023	February 8, 2023							
Letting Date	Janua	ry 20, 2023	January 20, 2023							
Notice to Proceed Dat	e March	13, 2023	March 13, 2023							
Open to Traffic Date										
Work Began Date										

Contract Total Pay For Estimate No. 3 This Estimate Previous To Date 230120-G04 \$610,767.72 (\$590,058.67) \$635,273.72 Total Posted Items Pay \$24,506.00 \$0.00 \$0.00 (\$590,058.67) Gross Item Adjustments \$0.00 \$0.00 \$0.00 Incentive Disincentive \$0.00 \$0.00 Liquidated Damage \$0.00 \$0.00 \$0.00 Other Contract Adjustments \$0.00 \$0.00 \$0.00 \$24,506.00 \$45,215.05 Contract Total Payable This Estimate: \$20,709.05

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J7P3503	0010	4091048	EMULSIFIED ASPHALT, SEAL COAT	GAL	\$2.630	114,143	\$300,196.09
	0020	4094001	SEAL COAT AGGREGATE, GRADE A1	SQYD	\$0.790	58,359	\$46,103.61
	0030	4094011	SEAL COAT AGGREGATE, GRADE B1	SQYD	\$0.810	300,937	\$243,758.97
	0060	6161005	CONSTRUCTION SIGNS	SQFT	\$6.650	2,147	\$14,277.55
	0090	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	EA	\$2,850.000	2	\$5,700.00
Project J7	7 <mark>P3503 - 1</mark>	Total					\$610,036.22
JSU0065	0210	6161005	CONSTRUCTION SIGNS	SQFT	\$6.650	110	\$731.50
Project JS	SU0065 - T	Total					\$731.50
Overall -	Total						\$610,767.72

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J7P3503	0010	EMULSIFIED ASPHALT, SEAL COAT	Material			-114,143	\$2.63	(\$300,196.09)
	0020	SEAL COAT AGGREGATE, GRADE A1	Material			-58,359	\$0.79	(\$46,103.61)



Pay Estimate Created Date: August 2, 2023

	Progr	ess Estimate Number	Contract ID	230120-G0)4	Pay Period Start	July 16, 2023	Original Contr	act Amount	\$2,976,463.00
	3		Prime Contractor	Blevins As Company	phalt Constru	ction Pay Period End	August 1, 2023	Net Change Order Amount Current Contract Amo		\$26,217.69 \$3,002,680.69
Project Number	Line No.	Item De	escription	Adjustment Type	Other Item Adjustment Type	Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J7P3503	0030	SEAL COAT	AGGREGATE, GRADE B1	Material				-300,937	\$0.81	(\$243,758.97)
Total										(\$590,058.67)



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Contract Project Information
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work
J7P3503	FAS S603(96)	Seal coat	Various	HICKORY	on Route 83, Route T in Polk County; Route M and Route 76 in Stone County; Route 76 E and Route BB in McDonald County; Route CC in Webster County and Route W in Barry County
JSU0065	FAS- S605(013)	Seal coat	Various	CHRISTIAN	from Route 160 to Blue Springs Road and on Route JJ from Route 125 to Route 14

Totals by Job Numbers

P3503	This Estimate	Previous	To Date
Posted Item Pay	\$610,036.22	\$24,506.00	\$634,542.22
Gross Item Adjustments	(\$590,058.67)	\$0.00	(\$590,058.67)
Gross Item Pay	\$19,977.55	\$24,506.00	\$44,483.55
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00
U0065	This Estimate	Previous	To Date
Posted Item Pay	\$731.50	\$0.00	\$731.50
Posted Item Pay	\$731.50	\$0.00	\$731.50
Posted Item Pay Gross Item Adjustments Gross Item Pay	\$731.50 \$0.00 \$731.50	\$0.00 \$0.00 \$0.00	\$731.50 \$0.00 \$731.50
Posted Item Pay Gross Item Adjustments	\$731.50 \$0.00 \$731.50 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$731.50 \$0.00 \$731.50 \$0.00
Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive	\$731.50 \$0.00 \$731.50	\$0.00 \$0.00 \$0.00	\$731.50 \$0.00 \$731.50



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J7P3503, Item 4091048, Project Item Line Number 0010, Material Set 409104896, Material 1015EA.CHFRS-2P - Emulsion CHFRS-2P, Acceptance Action Generic AspEmulsion is insufficient.	Oil Tickets given are not from an accepted supplier. Pay is being withheld until resolved.	gwinc1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J7P3503, Item 4094001, Project Item Line Number 0020, Material Set 409400196, Material 1003GA - Aggregate for Seal Coat Grade A1, Acceptance Action Generic 1003GA is insufficient.	Contractor is missing 2 gradation and 2 deleterious tests for this item. Pay is being withheld until resolved.	gwinc1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J7P3503, Item 4094011, Project Item Line Number 0030, Material Set 409401196, Material 1003GB - Aggregate for Seal Coat Grade B1, Acceptance Action Generic 1003GB is insufficient.	Contractor is missing 2 gradation and 2 deleterious tests for this item. Pay is being withheld until resolved.	gwinc1	Acknowledged



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

	roject No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
20-G04 J7F	P3503	0001	0010	4091048	EMULSIFIED ASPHALT, SEAL COAT	415,559.00	-10,950.00	404,609.00	GAL	114,143.00	\$2.63	\$300,196.09
		0001	0020	4094001	SEAL COAT AGGREGATE, GRADE A1	451,155.00	-31,285.00	419,870.00	SQYD	58,359.00	\$0.79	\$46,103.6
		0001	0030	4094011	SEAL COAT AGGREGATE, GRADE B1	714,674.00	0.00	714,674.00	SQYD	300,937.00	\$0.81	\$243,758.9
		0001	0040	4134000	BITUMINOUS FOG SEAL	2,859.00	7,563.00	10,422.00	GAL	0.00	\$8.71	\$0.00
		0001	0050	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	1.00	0.00	1.00	EA	0.00	\$2,000.00	\$0.0
		0001	0060	6161005	CONSTRUCTION SIGNS	5,234.00	0.00	5,234.00	SQFT	2,661.00	\$6.65	\$17,695.6
		0001	0070	6161025	CHANNELIZER (TRIM LINE)	250.00	0.00	250.00	EA	0.00	\$5.15	\$0.0
		0001	0080	6161040	FLASHING ARROW PANEL	1.00	0.00	1.00	EA	0.00	\$256.00	\$0.0
		0001	0090	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	6.00	0.00	6.00	EA	6.00	\$2,850.00	\$17,100.0
		0001	0100	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	8.00	0.00	8.00	EA	0.00	\$1,450.00	\$0.0
		0001	0110	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$340,000.00	\$0.0
		0001	0111	6181000	MOBILIZATION	0.00	1.00	1.00	LS	0.00	\$326,894.00	\$0.0
		0001	0120	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	90.00	0.00	90.00	LF	0.00	\$20.45	\$0.0
		0001	0130	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	136.00	0.00	136.00	LF	0.00	\$20.45	\$0.0
		0001	0140	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	16.00	0.00	16.00	EA	0.00	\$307.00	\$0.0
		0001	0150	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	10.00	0.00	10.00	EA	0.00	\$205.00	\$0.0
		0001	0160	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	880,651.00	0.00	880,651.00	LF	0.00	\$0.16	\$0.0
		0001	0170	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	880,651.00	0.00	880,651.00	LF	0.00	\$0.15	\$0.0
		0001	5001	6189901	MISC.Adjust Mobilization for Contract Bond	0.00	1.00	1.00	LS	1.00	\$13,106.00	\$13,106.0
Pro	oject J7	P3503 - To	tal Value	Posted to D	ate as of Report Generated Date							\$637,960.3
JSI	U0065	0001	0180	4091048	EMULSIFIED ASPHALT, SEAL COAT	33,635.00	0.00	33,635.00	GAL	0.00	\$2.65	\$0.0
		0001	0190	4094001	SEAL COAT AGGREGATE, GRADE A1	30,894.00	0.00	30,894.00	SQYD	0.00	\$0.82	\$0.0
		0001	0200	4094011	SEAL COAT AGGREGATE, GRADE B1	63,565.00	0.00	63,565.00	SQYD	0.00	\$0.80	\$0.0
		0001	0210	6161005	CONSTRUCTION SIGNS	410.00	0.00	410.00	SQFT	278.00	\$6.65	\$1,848.7
		0001	0220	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$38,000.33	\$0.0
		0001	0230	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	20.00	0.00	20.00	LF	0.00	\$103.00	\$0.0
		0001	0240	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	76,138.00	0.00	76,138.00	LF	0.00	\$0.16	\$0.0
		0001	0250	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	76,138.00	0.00	76,138.00	LF	0.00	\$0.15	\$0.0
		0001	5101	4134000	BITUMINOUS FOG SEAL	0.00	1,591.00	1,591.00	GAL	0.00	\$8.71	\$0.0
Pro	oject JS	U0065 - To	tal Value	Posted to D	ate as of Report Generated Date							\$1,848.7
20-G04 Overall	- Total \	/alue Post	ed to Dat	e as of Repo	ort Generated Date							\$639,809.0



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail. location and quantity of work.

Project: J7P3503

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	4091048	EMULSIFIED ASPHALT, SEAL COAT	7/17/23	7/27/23	17,121.00	GAL	From the Quarry Entrance to Rte J both lanes	3.42E		7.26E		5707+5707+5707
			7/18/23	7/26/23	5,707.00	GAL	From QUarry Entrance to NN Intersection both lanes	3.42E		3.131E		
			7/19/23	7/26/23	22,833.00	GAL	83 SB Lane from Rte 54 Intersection to V intersection	28.3S		40.0S		(5707*3)+5712
			7/22/23	7/27/23	11,414.00	GAL	Rte 83 from south end, V, to unknown spot "south of wheatland"					
							Rest of route laid monday July 24. Since exact quantity unknown, work done today and Monday split 50/50					
			7/24/23	7/27/23	11,414.00	GAL	Rte 83 from unknown spot "south of wheatland" to Rte 54					
							Rest of route laid Saturday July 22. Since exact quantity unknown, work done today and Saturday split 50/50					
			7/25/23	7/31/23	22,833.00	GAL	EB Lane Rte T	10.3 E		0.0 E		(5707*3)+5712=22833
			7/26/23	7/31/23	22,821.00	GAL	WB Lane Rte T	0.0 E		10.3 E		(5707*3)+5700=22821
0020	4094001	SEAL COAT AGGREGATE, GRADE A1	7/17/23	7/27/23	50,025.00	SQYD	From Quarry Entrance to Rte J both lanes	3.42E		7.26E		
			7/18/23	7/26/23	8,334.00	SQYD	From Quarry Entrance to NN intersection both lanes	3.42E		3.131E		
0030	4094011	SEAL COAT AGGREGATE, GRADE B1	7/19/23	7/26/23	68,191.00	SQYD	83 SB Lane from Rte 54 Intersection to V intersection	28.3S		40.0S		
			7/22/23	7/27/23	42,053.00	SQYD	Rte 83 from south end, V, to unknown spot "south of wheatland"					
							Rest of route laid monday July 24. Since exact quantity unknown, work done today and Monday split 50/50					
			7/24/23	7/27/23	42,054.00	SQYD	Rte 83 from unknown spot "south of wheatland" to Rte 54 Rest of route laid Saturday July 22. Since exact quantity unknown, work done today and Saturday split 50/50					
			7/25/23	7/31/23	74.319.00	SQYD	EB Lane Rte T	10.3 E		0.0 E		
			7/26/23	7/31/23	74,320.00		WB Lane Rte T	0.0 E		10.3 E		
0060	6161005	CONSTRUCTION SIGNS		7/27/23	1,670.00	SQFT	Rte 64					From Roadrunner Invoice on 7/25
			7/28/23	8/2/23	477.00	SQFT	For future rte					
0090	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	7/17/23	7/27/23	2.00	EA	Both ends of RTe T					

Project: JSU0065

Line Number	ltem Code	Description	DWR Date	DWR Approval Date		Units	Location	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0210	6161005	CONSTRUCTION SIGNS	7/28/23	8/2/23	110.00	SQFT	For future rte				

The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Contract ID: 230120-G04

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3503	0010	EMULSIFIED ASPHALT,	Material		3	Aug 2, 2023	SYSTEM	(\$300,196.09)	
		SEAL COAT		- Total				(\$300,196.09)	
			Material - To	otal				(\$300,196.09)	
	0010 -	Total						(\$300,196.09)	
	0020	SEAL COAT AGGREGATE,	Material		3	Aug 2, 2023	SYSTEM	(\$46,103.61)	
		GRADE A1		- Total				(\$46,103.61)	
			Material - To	otal				(\$46,103.61)	
	0020 -	Total						(\$46,103.61)	
	0030	SEAL COAT AGGREGATE, GRADE B1	Material		3	Aug 2, 2023	SYSTEM	(\$243,758.97)	
		GRADE DI		- Total				(\$243,758.97)	
			Material - To	otal				(\$243,758.97)	
	0030 -	Total						(\$243,758.97)	
J7P3503 ·	P3503 - Total							(\$590,058.67)	
Overall -	Iverall - Total						(\$590,058.67)		



There are no contract adjustments to display for this contract.